Math 111 - Quiz 6 Name: _
Nov 19 2010 Stugt: S OLUTIO NS.

(1) [7] Suppose
U= {0,1,2,‘3,4,5,6,7,8,9}, A=1{0,1,57}, B={0,2,35,8}, C={5,6,89}

(i) Determine BN A
rOA = { o)d

L RA = (1,234 6,H8,9]

(ii) Determine (AN B)U (BN C)
AnB = o5y
Bnc = {S’,S’}

oo (Ra3) U (BN = {O,g,g’},

(2) [4] Using the 26 letters of the alphabet, how many different five letter codes are possible if
adjacent letters within the codes must be different? (That is, a code can have multiple occurrences of
the same letter, as in ababa, but codes having two of the same letter side-by-side are not permitted,

as with aabab.)
There ol 2 chaiws i he Rt \e;\fﬁer)
ok 25 Choices Py eadd~ 4 e vext 4 (eters
( since each (etter after Ny St st oA e, Tona
the oune iV"“’”‘Q"(’;ajrd'\% ‘bﬁz’}(kﬂ)
oo b? +. MM};HP\CCa:HDw ij;»\ui‘)\& e ave
(26)(25)(27) (a5)(*3) = 10,156,250 Possible cootes.
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(3) [4] How many different ways are there of arranging the letters in the word SUNDAY if the
arrangements must begin with S and end with Y7

S — Y

Tlhas s ch‘wl\/@(ﬁhj_ 5 astahg Tor T o bes 4
POSS{W awa«ng&ne»ofs % T letlevs (AND@—)

Wick s PLuu) = 4l = a2y
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